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1- 1 - the argument because I didn't know enough about the subject.
1) depicted 2) confronted 3) dropped 4) broached

]S god £ g9 0Ly (SIS ojlasl 4y lyyg ——-—- Iy oy yo
po,S 7 ke (¥ po,S Loy (¥ po,S abilie (Y pols Lioles ()
2- Because my husband is a ----- supporter of the high school football team, he donates money to

their organization every year,
1) Zealous 2) anomalous 3) receptive 4) successive

) 4y
S e Ll Joy 3l (Lol s Jloy gl el s s JLigh s - Oltiy So el oS s cnl 4
3- Since the journey is ------ , be sure to bring a first-aid kit.
1) courageous 2) cautious 3) enormous 4) perilous
¥ s
6ok adel olo S g a5 L (yielae (ol ————- o oyl &S o ol e
SL,las (F adae (¥ Llisa (¥ alg¥s ()

4- The writer's stories appeal to a wide range of people young and old, ----- and poor, literary and
nonliterary.
1) economical 2) financial 3) affluent 4) elite

Y
ol g.:‘.\?- Cowgd g.:Lub‘ )...C 9 C«»so uL..».;l 42...03 9————= 29 U‘P obﬂ‘ )‘ le ooj&.mf g_a...b 6‘).: OMBJ LSLQ uLA-AAJ‘\)
a5 (¥ o A S olassl (1

5- His nostalgic ------ of growing up in a small city are comical, though they are perhaps
embellished for comic effect.
1) impacts 2) accounts 3) entertainments 4) bibliographies

¥ auS

sl oolofﬁséuoiag);b)jl Glp i ax 31 il s ouis So S i S 0 gl ol Sy 5210l 0 )bl ————-

o ol LS (¥ b (g S (¥ Ul (¥ o1 O

6- On a chilly night, you might like to curl up by the fireside and ----- a cup of hot chocolate while

reading one of Thurber's books.
1) imbibe 2) amalgamate 3) relieve 4) fascinate
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, he attempted to be jovial so that his colleagues at the meeting

7- Although Mr. Jackson was --------

wouldn't think there was a problem.

1) unpretentious 2) painstaking 3) apprehensive 4) attentive

Y ay;s

D)l 052 g Ao 4 Wigld x> gite dulz (o LIS B ol GheS w0 crw (3gy ————- oS Bl ax 31

Sledga (¥ o e (Y c3sL(Y leal o ()
8- Obviously the network is overreacting and engaging in --------- when they say "'55 million people

are in danger!" for normal thunderstorms.
4) justification

1) distinction 2) exaggeration 3) expectation
¥ asS
B0 "aizgS (oo (gle slo 309 92 (sl 4S9 99 d (o0 - 7553 9980 (oo (LS STy a5l iow 4 o el o
Mo jlas 50 585 ealie 45
sl (¥ &£l (Y mles ()

a3 (¥
from science into personal anecdotes about his

9- My high school biology teacher loved to
college adventures.
3) reversed 4) digressed

1) evolved 2) converted
¥ s
————— ru?d > ldeb @?‘PL@ o)l.g)é ;Mu LSLQ wlbcb ;o.l.Cu?L:)‘ aS cublo Cawgd p.’LM»).u\) GAMLMAJM)rblM
a5 o Se (¥ S s (Y 2l S5 ()

(Ego90 31) 39 B o (¥

10- Landing a plane on an aircraft carrier requires a great deal of ------- you can crash if you miss

the landing zone by even a little bit.
1) Precision 2) innovation 3) superiority 4) variability
Vs
ol o S oLzl 1y 33,8 46 )3 S g3 511 3 5L g0y =mmmm & plecalyn 5 S0 (53, onlya 3,51 39,3
SS bogds
&8s ()
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1- The police only believed me after an eyewitness ------ my account of the accident.
1) displayed 2) constituted 3) corroborated 4) suspected

Yans
2,5 0L 1y pe o= b;éoLd;lwuis)l}f@smu&ﬁaS&hl@ww
cuile S (F 3,5 Gaduas (Y slo Sas (Y ols rsles (

2- The plan is to our ----- advantage; we will all benefit greatly from it.
1) concurrent 2) mutual 3) devoted 4) involved

.oﬁwlpawoblwudm.wu ————— e b ol
3- Our organization is committed to pursuing its aims through peaceful -------- We totally reject

violence as a means of political change.
1) means 2) instruments 3) devices 4) gadgets

) 4y

s Lo olgmie 0T, gt SaLS Lo sl sl jaol canfls =mmm b 51 395 Gl 58" Jos & b ol
oS (0 3) (ol

Sl (F olewl co&ws (Y s (Y Jolog el o ()

4- All parents receive a booklet which----- the school's aims and objectives before their children

start their first term.
1) clarifies 2) injects 3) conducts 4) notifies

) ass
—— Iy duyio dolio g Blaal as asS ol o ol azaliS S £9,0 1) Jol o5 o Liolasy 3 assol 51 L8 padly 6 ann
o)l (oo el (F WS oo iletal, (F WS (o0 85 (¥ 3l go by, ()

5- Increasing the state pension is a -- ----- aim, but I don’t think the country can afford it.
1) redundant 2) diverse 3) flexible 4) laudable

fauss
el 2 0l gl s g 5l Wls )55 AT 03 (o8 1SB e Lol el —mmm (B (g (Snediil gede RaliH)
s B (F s Blassl (Y o5 GeS (Y Slal ()
6- The primary aim in sumo wrestling is to knock your ----- right out of the ring!
1) protagonist 2) opponent 3) referee 4) beneficiary

=

Vags
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7- The cost of the damage caused by the oil ----- will be around $200 million.
1) spill 2) guilt 3) demerit 4) extent
VS
Oy ddles Yo el Ve e dgas iy - 3l b ol sase
ul).o.a(f ua.a)(\ﬂ oLS (Y uo;wcuoo)(\
8- Most of us ----- when we hear that many children spend more time watching TV than they
spend in school. It's a rather scary thought.
1) withdraw 2) retreat 3) recoil 4) regress
s

0SS e gl GLale3 B o] i e 15 4SUT 51 (g ki (e ()l 5395 45 i (o0 S Sl La S
] Sl s S8y

oS (o0 Sy (¥ p9> o L (Y S (o0 (e e (V S oo die ()

9- Even though he isn't enrolled right now, Calvin says he will go to college ----- :

1) creatively 2) delicately 3) sentimentally 4) eventually
¥ oS
;AS)MI?@[SAJ ————— 5‘45m5fsou45lfcw|obewbeb)oglbﬁl

10- You should avoid driving during the snowstorm because the icy roads are ----- .
1) superficial 2) frigid 3) perilous 4) cautious

Yas
A W 3o sle ool [y S Ol Sl 5l alb SYeS Jsbo o
bl (F Sbylas (Y Sezvie (Y > ()

no S0 jalz Uil g le b (515 12 S 039S 4



%/B]a. Obj e dobicwd

-
~= o °
T’ 09;— ‘f” JLw M)‘ gswl.fad)tf
1- During the ----- between arriving at the airport and boarding the plane, we'll probably do a bit
of window shopping,
1) interval 2) intervention 3) imbalance 4) inconsistency
) 4y
.M.lfo&l)l.:boj&awﬂséyw}|ucdw%|y@)‘w9 0509}@Q%~’)&:=’ ______ JSJa)O
S e (¥ Jolss pae (Y alsae (Y alols ()
2- That ugly vacant lot -- --- from the beauty of the neighborhood.
1) depletes 2) derives 3) detracts 4) deviates
¥
----- e ooy 3l caty JB sl o
WS e B yoxie (¥ aals’ o (Y Do o iiien (¥ WS o Js (O

3- At first, the Savings Mart didn't do well, but after it lowered its prices and increased its
advertising, the store began to ----- ]

1) prosper 2) subside 3) arise 4) strive
VS
-4 £, o8y 8 0,8 ion |y islids g ol ralS | il cand aSCol 51w Ll 095 (389 Savings Mart &S )8 dasul jo
0,5 ——-
0355 ibsS (¥ ol (¥ 0o 59 (Y B &3,

4- The movement of clouds may seem to be ----- , hut scientists know that there is a pattern to how

they move.
1) compatible 2) specific 3) transient 4) random
Fays
.ojlo oa?ﬁ LQ,J us).> Gi’ﬁg ‘_g‘).: t5"5§‘” dSJ.u‘M u|w|o Lol eM).:)Luéb ————— Sl uio.a LQ).:‘ us).>
sdolas (f [, 48 (Y e (Y L5l

5- Since my math class was very difficult for me, I consider the B that I got for the course to be a

great -----
1) illusion 2) triumph 3) obligation 4) disapproval
Vs
85 a5 55 (S -mmm ) 28,5 5950 2l 5B 0 ey s it (30 (sl (o2, OIS 5 bl 5
el (F A3l (¥ o (¥ w29 ()

s
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6- The hardware store sells ------- stones made of plastic that you can open and hide a house key in.
Then you can hide the key by leaving the stone somewhere near your door.
1) confidential 2) artificial 3) superficial 4) metaphorical

¥ S

Lol jo 1y als 0l g S50 Ll o Slgiee 45 w3l oo assLo Seaadly 51 a5 wibg yige ———-—- ol S g5 15l olKig 2
3l5 SBL Ll ) a8 o Sop ol S 0l 1B L s . S5 oy

&l oyl (¥ ol (Y sEgian (Y ala e ()

7- Rhoda's budget is so tight that she felt it would be -------- to buy herself even a ten-dollar pair of

earrings.
1) plausible 2) tangible 3) sufficient 4) extravagant

Yaoy
D50 (6,8 03 o,lgieS i SO > 9055 (gly A 09 dales ————- WS oo ol gl aS conl o5 jadol logy a9
Ol 3y (SIS (F S (Y gl (Y Josizee (N

8- When the climbers reached the peak of the tallest mountain in the world, they felt it was a -------
Occasion and were filled with pride.

1) momentary 2) moribund 3) meticulous 4) momentous
¥ s
15092 7o) 9,8 5l g Sal o= Syt a5 085 ol Ll iy ez 50 055 (gl Al 4y o5 055" 38
oo (F B x (F Sy ds g, (Y (V)45 25
9- The ramification of committing a murder is to serve a prison sentence even if you -------- your
actions.
1) implement 2) renew 3) regret 4) exceed
Y

----- bl et 51 o ol oty _Slasy 3 OISl waly

5050 (F Qg oylandiy (F S g0 (Y 08 szl ()

10- It is often an attorney's job to construe the meaning of a contract and then share that --------
with a client and, if needed, with a judge or jury

1) justification 2) interpretation 3) transformation 4) condemnation
Vs
G adaie i b LB SHLog ko STy JSge b-mmm Of ey 5 08 s |, 0118 S (e 4 el (S5 515 Vgane 0
53K STl
CoragSme (¥ S5 (Y s (¥ asslae ()
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1- The ........ of a second row of houses on Bayley Street and the removal of the railway line made
room for a spacious park and children’s play area.
1) deficiency 2) demarcation 3) deterrence 4) demolition

Faus
28 olul (5365 63k e § Sy (S (sl (ol (sl ol las Bl g Lo (LLs o Lo s pgo Ly -----

2- The coach knows the sport inside out, and we treat her with the respect she ----- .
1) exposes 2) deserves 3) diffuses 4) reminds

Yan
oS oo ,la8y ol |y - a5 alyizl b gl b Lo g ol 0l LS 65L ol (50
S5 o sl Sb (¥ WS (o ke (Y o)ls gzl (Y A o, ()

3- The virus remains ... in nerve tissue until activated.
1) innate 2) harmful 3) dormant 4) diverse

¥ais

g8 Jlad oS Sloy B wile (g0 (SL o= sras S8l 5o g

& gie (F azigs ¢ Jladyué (Y e (Y S8

4- In order to cut costs, my boss has asked me to eliminate all positions that are not ...... to day-to-

day operations.
1) indispensable 2) indeterminate 3) incompatible 4) indiscriminate

VS
pjd» ‘) Sy == === 43‘}9) ‘_ng o;)lfdlﬁ ASG;LQW'aLAJ G wlyuﬁ)‘ (o y A Ay MS&'ﬁ
5- In Hank's family, the genetic factors of ----- must be strong because most of the members live

to be over ninety years of age.
1) prosperity 2) longevity 3) perception 4) anticipation

Yy
SIS o yoe Jlo 095 3] g 00lgils gliael jiig | aisl 98 sl ——-—- S5 Jelge «Sola g oolgsls 4o
s (F Sy (Y os Jobo (¥ o3, ()

6- The amount of air coming from the vents is ----- and not nearly enough to cool the room.
1) exceptional 2) terrestrial 3) momentous 4) negligible

=

F e
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7- The cup warmer will allow your beverage to ... its temperature for at least an hour.
1) retain 2) reverse 3) rotate 4) regress
VS
———- el SG JBlas b1 iales L Souwbes ans oo oyl l oaiiS o8 oy lxid

o) o (F oz (Y O3S dg,lg (Y ols 4 ()

8- Glenn's lack of ............ of the guitar is what caused his audience to leave the recital during the

intermission.
1) impact 2) reception 3) mastery 4) performance

¥
S S 1 3less gl l oo e ooy 5o O, LakeS oS b rge oS ol (g LS 2 IS - lo
| (F &g (F Sy (Y 0

9- The newspaper's crossword puzzles are definitely ...... , although they get harder as the week

goes on, and Saturday's puzzle is a real brainteaser.
1) flexible 2) soluble 3) tangible 4) demanding

Yan

S AESG 59y J9i 9 Ngd (o0 fiiSw 1535 oo b atie oS polailen az ST el —om-- Lebad 4oy, alolize wlalS Jgor
el (ABly g0

e (¥ ogede (Y J> s (Y dpodllas! ()

10- It is rumored that dogs have a great ---- for cats, yet Lois's two dogs and three cats get along

famously.
1) compromise 2) antipathy 3) consequence 4) hesitation
VS
Al oo ,US 08 b g ) lias ey 40,5 b s 5 Ko 5 go Lol w3yl b 4y 5L g0l ————- Ly Ko oS ol 00 ansls
235 (¥ lge (¥ Crageas (¥ Syl ()
11- Given how hot it had been all day, someone was bound to ----- the idea of going swimming.
1) provoke 2) apply 3) confirm 4) broach
¥ oS
ey 3y Lo ool ol 5 S5 ol 0352 5 i 92 59, Jsbo 53 €Sl &y 4z g5 L
oS ook (F 09,5 s (¥ o985 Jlesl (Y 0855 a2 ()

12- Because the scientist knew his solution was not evident, he tried to offer his investors a ..........

.... alternative so they would continue to fund his research.
1) derivative 2) plausible 3) customary 4) puzzling

7P sstom e bets gle pts IS 2 S 0595 2
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1- Dogs growl and show their teeth in an attempt to frighten the animal or person they perceive as

1) habitat 2) prey 3) suspicion 4) threat
Faus
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Qg (F 7 dasbs (Y pgrcanma ()

2- Based on his recent poor decisions, it was obvious that Seth lacked even a modicum of good -----

1) sentiment 2) sense 3) sensation 4) sensitivity
¥ asS
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3- The judge...... the extraneous evidence because it was not pertinent to the trial.
1) disclosed 2) distended 3) dismissed 4) distorted

Yais
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4- The more frequently employees take time to exercise during working hours each week, the
fewer sick days they .....
1) expend 2) save 3) take 4) recall

¥ ais
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5- Classic psychology experiments have shown that when rats are first ----- with an electrical

shock to fear a tone when it sounds, they later fear the tone even without the associated shock.
1) conditioned 2) sparkled 3) displayed 4) intended
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6- In 1998 Gordon Sinclair, the owner of a well-known Chicago restaurant, was struggling with a
problem that ....all restaurateurs. Patrons frequently reserve a table but, without notice, fail to

appear.
3) intensifies 4) evades

1) delegates 2) afflicts
Y asS
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7- Despite what the scientist said, the volcano eruption is not ... so do not be concerned!

1) impassive 2) negotiable 3) vulnerable 4) imminent

¥ aoss
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8- At the landfill, the... process is in full swing, turning much of the garbage into gasses.

1) conversion 2) restoration 3) decomposition 4) pressurization

¥ ans
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9- Because | am an extreme planner who needs to control everything, | never engage in ......
1) justification 2) pretention 3) coincidence 4) spontaneity
Fays
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10- The roads in our town already have too much traffic; building a new shopping mall will

the problem.
1) frustrate 2) exacerbate 3) preserve 4) exploit
VS
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11- The movie Close Encounters of the Third Kind tells the story of the first contact between

beings from outer space and ........ creatures, that is, those living on earth.

1) terrestrial 2) dominant 3) ingenious 4) affable
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12- There is ........... agreement that an airport is needed; no one disputes that, but there is
fundamental disagreement about where to build it.

1) uniform 2) utilitarian 3) unique 4) unanimous
Faus
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